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— ~ Assume the operational amplifiers are ideal.
1. For the circuit shown in Fig. 1(a), Find the Z,.(10%) 1
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= ~ Assume the operational amplifiers are ideal.
1. For the circuit shown in Fig. 2(a), Find and plot the transfer characteristic V,

oV, as a function of V,.(5%)
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4. For the circuit shown in Fig. 2(d), find the I,.(5%)
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=. - For the circuit shown below, assume the operational amplifiers are ideal.
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3. For the circuit shown in Fig. 2(c), find the voltage of X. (5%) - Vv
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-1. i oY 2. Design two different circuits to satisfy the ‘—{ = T
| T -15V (1) Use two operational amplifiers. (5%)

ey (2) Only use one operational amplifier. (5%)
Fig. 2(c)
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w ~ For the circuit shown below, Calculate the Yo (£ =100, Rp= 100k 2, Ry = 1k2,
vs
R.=100kQ2, I = 1mA) (2093)
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% ~ For the circuit shown below, find R,,, R, and A,.(20%)
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